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Topic:- General Science
1) Anthrax is a fatal disease caused by a o
WG Iae SHRIE, S FPRUG I
1. Fungus / ®d&H

2. Worm / wfi(
3. Virus / ﬁ'qTUl
4. Bacterium / Gﬁfﬂq

Correct Answer :-

» Bacterium / GﬁaT‘H

2) What happens in an electric cell? /

U fagaa da A | glar 82

1. Chemical energy is converted into electrical energy / RIRIEED Gv'Trlf, ﬁ'g{qﬂ Sl & ufkafda gt % I
2. Heat energy is converted into electrical energy / $HSHI G)Tl‘ﬁ, ﬁ_{{qﬁ Soif & ufkafda @?ﬂ % |

3. Electrical energy is converted into chemical energy /ﬁ'g;qa E)'_Gﬁ, e St 7 uRafdd gidt 81
4. Electrical energy is converted into light energy / ﬁ@q—d Wf, BT Soll § gRkafda Bﬁ?‘ﬁ %I

Correct Answer :-

» Chemical energy is converted into electrical energy / RS Sl , ﬁgﬂﬂ Soit & uRafdd grat %I

3) Which of the following is to be added to a crop field that is too basic? /
frafufad # 4 f$ te vaa &= # STa1 o1 91T o) 9gd MRS (QRT®) 82
1. Quick lime / a1 g1 1

2. NPK / T

3. Slaked lime / ST AT

4. Organic matter / FEHD 1IIET?-f

Correct Answer :-

e Organic matter / Fe® uerd

4) Which of the following two metals can be cut with a knife?/
fFrfafaa & @ &1 9t & urgsii &) 9% | FTeT o JHar 82

1. Na & Mg



2.Na&K
3.Ca&K

4. Ca & Mg

Correct Answer :-
¢« Na&K

5) Where does the lens in the human eye form the image of an object? /
g 37 ¥ AW, U avg @1 B3 el a1 g2

1. Cornea / BI=aT

2. Choroid / Y& Ucd

3. Sclera / §dUcd

4. Retina / AT

Correct Answer :-

* Retina /?l k||

6) As the moon completes one revolution around the earth, it completes: /

O € < g S STHUTH T URHHOT IR 4T 8, T8 19 &1 quf avar @
1. 15 rotations about its own axis / 30 31& TR 15 qvﬁ

2. 29 rotations about its own axis / 30 37&f TR 29 U;UT_'T

3. 2 rotations about its own axis / 30" a{&fﬂ?ﬁ‘qpﬁ

4. 1 rotation about its own axis / 301 G{&IWWY{\U&T

Correct Answer :-
« 1 rotation about its own axis / 3T G{&IWW'{U&[

7) Cuscuta is a long wiry plant without leaves, hence it is sl

el fTuRE FTdd AR ST dlT €, gafoga s R
1. parasitic / ORSat

2. saprophytic / H?ﬁq\_!ﬂd)f

3. insectivorous / aﬁflglﬁ

4. symbiotic / Tgofal

Correct Answer :-

e parasitic / Rofat

8) Lime water turns milky on passing carbon dioxide gas into it due to the formation of sl

A BT U, HTa ST3HTRITSS T A oA W gferr gY wirar g1 ¥ar F fAmfor & sRUT AT B
1. sodium carbonate / TSTH HTEC

2. sodium hydrogen carbonate / qifsaa E’E@Gﬁ CACIE



3. calcium carbonate / BIeRTTH HTEHC
4. calcium oxalate / PRI TFTC

Correct Answer :-

e calcium carbonate /%@Pm CACIE

9) The earth’s plate responsible for causing earthquakes is the: /

Tt P 98 We ol YU S B P g IvRer g, A @:
1. crust of the earth / G2t 1 TU

2. mantle of the carth / G2} &1 Hed

3. outer corner of the earth / J2d! &1 ST&I BT

4. inner core of the earth / G2dl 1 SHidR® HR

Correct Answer :-

« crust of the earth /q%?ﬁ 1 guet

10) The main cause of wind movement is: /

g B Ifd BT 4T FRUI A §:

1. Low temperature / IREICEIE]

2. Uneven cooling / A Mda

3. Uneven heating on the earth /q%ﬁ ERESSEIEIGIEE]

4. High pressure / 3P g

Correct Answer :-
» Uneven heating on the earth /q&ﬁ OR H{YHTA 9

11) The amplitude of vibration of sound determines its ol

AN F FUTHT MW, P B FAufRa sard)
1. frequency / 3ﬂ§ﬁf

2. speed / @Il

3. time period / g AT

4. loudness / U&ddl

Correct Answer :-

¢ loudness / UdeAdl

12) The force responsible for the transportation of water and minerals in tall trees is ol
wq 0s) & gt 3k w@fAeil & ufvags & forg Swverdt 99 g gl

1. Gravitational force / mw

2. Suction force / JYUT §¢T

3. Adhesive force / TSI T



4. Magnetic force /WW

Correct Answer :-

« Suction force / JYUT dcT

13) The inner surface of a steel spoon acts as a o

TS W & g9 P Al gag P ae Bl Pl Bl
1. convex mirror / 3T GUUT

2. convex lens / 3T 1

3. concave lens / 3fadd o

4. concave mirror / 3(ddd gUUT

Correct Answer :-

e concave mirror / &ﬁﬁam

14) The southwest monsoon season in our country is during the months of: /
AR 321 H SRVT-uf3H A 1 W e wEi & SR gaT 8

1. June to September / 5[ 9 RdaR

2. November to February / TdeR J HRasd

3. October to December / 3{dgaR ¥ fGaraR

4. May to June /ﬂg@\?ﬁ

Correct Answer :-
 June to September / 5[ 9 RydeR

15) The clinical thermometer is used to measure: /

A ywfHe 1 wanT 39 A & e faar sirar 3:
1. The human body temperature / HI-d YRR a9

2. The room temperature / P& dlU

3. The temperature of the clinic | FeRi BT AT

4. The temperature of the laboratory / TNTRITA &1 dTd

Correct Answer :-

e The human body temperature / HI-d TRR ™

16) The natural cover that is made by the branches of tall trees is known as: /

o U B IRATSH} §IRT ST 1T W fad STavor i A1 & $U A SE1 o1t 8:
1. Habitat / AHTdTH

2. Canopy / rdt

3. Forest / STc

4. Crown / P13



Correct Answer :-

» Canopy/ St

17) The metric system was introduced in: /
Hifew womelt 39 =1 A uarfaq #1 7E:

1. France / W1

2. India / HRd

3. America / 3{AR®T

4. England / 3"%3

Correct Answer :-

« France / Wi

18) The hottest zone of a flame is: /
o BT Had T &7 A g e:

1. Inner zone / TR &

2. Intermediate zone / e &

3. Middle zone / A &5

4. Outer zone / §T&l R

Correct Answer :-
¢ Outer zone / §T&I RS

19) The release of sex hormones is under the control of hormone secreted by the ./
AT gIHA BT Jad T, FRT W1fad gTAI & fror & grar 31

1. Thyroid / YTIRIES

2. Pituitary gland /lﬂqwﬁl

3. Testis / gUT
4. Ovary / 3SR

Correct Answer :-

« Pituitary gland /tﬂ'{[qﬂﬁf

20) The petroleum product used as fuel for lamps and jet aircrafts is: /

A7 3R Sie TIRwTr & T $u9 & =0 # wygad g1 arar vy Iarg A= @:
1. CNG / Higsit

2. Kerosene / fhRIRHA

3. Diesel / Sioidl

4. Coal gas / BITY

Correct Answer :-



« Kerosene / fpIRMA

21) The process of movement of water into deeper layers of soil is called of
gt ot e wral # urit 35t wifa 5t wltean FEardl gl

1. Filtration / FdE

2. Weathering / 3U&T

3. Percolation / 3{d:¥ddUl

4. Erosion / 3{URgA

Correct Answer :-
« Percolation / 3{d: X0l

22) In a cell, genes are located on the il
TP SIS H, oA wRREEAE

1. Mitochondria / msaﬁ%m

2. Ribosomes / TE@I@I'FH

3. Golgi apparatus / et SUBRT

4. Chromosomes / SIHIIIRT

Correct Answer :-

« Chromosomes / SPTAIIIRT

23) Seeds which are dispersed by animals possess il
9o, s el grroRafaeag, __  geeaEl
1. hairy outgrowths / AER T

2. Wings / 0@

3. large ridges /aém

4. spines and hooks /PIE 3R gh

Correct Answer :-

« spines and hooks ko ﬁ?@

24) Rearing of silk worms for obtaining silk is known as: /

I T R & g IXmPIet 1 ure-utyor fA sy 8
1. Sericulture / YPHeaR

2. Silviculture / RicdideeR

3. Agriculture / Q‘Jﬁﬂ’?’ﬂ

4. Apiculture / QTﬂWT

Correct Answer :-

« Sericulture / AHEER



25) When the earth quake occurs, the safest place to stay is: /

SIE YU 31T & dl 383 & g qad JRfda R 8:
1. under a big tree /Qﬂ?@%ﬁ%’%ﬁﬁ
2. inside the house / TR & 3

3. inside the vehicle / dlg- & R
4. in an open ground / @ﬁmﬁ

Correct Answer :-

 in an open ground /Eﬁ OeM #

Topic:- General Hindi

1) {9 iR | U, 91, A 3fe arae ! &1 wENT ghar 82
1. HFAIHROT

2. Y

3. IHET

4. JH®H

Correct Answer :-

2) ‘ugr F1 9 & A o a1 wE faa weg 32
1. fauer

2. et

3. UTférp

4, dugl

Correct Answer :-

3) G FIFE AP T Raw g &2
1. o=t
2. 31T

3. gawl
4. ST

Correct Answer :-

4) o AR g I AT ITIAEE?
1. gg 999



2. IGTY FHNY
3. fg7] a9

4, FHYRY TIH

Correct Answer :-

. HHYRY JHNH

5) ‘HHA AT | e & & 9 a1 9u 32
1. g gAY

2. AT FHY

3. feig a9

4, HHYRY T

Correct Answer :-
. HHYRY 9™
6) WITH AT FudAs AT
1. TH1G
2. MY
3. URSH
4. it

Correct Answer :-
. UYE
7) gt &1 aE AR g Fe A d s are:?
1. Y H ofiq
2. 49 &1 Hid
3. 4gd fid
4. Yg & fog ofiq

Correct Answer :-

. g3 i

8) «3fir I AT g P A AP ATR?
1. STHRY

2. 3t

3. S

4. 3N

Correct Answer :-



9) a &1 fu & A o1 1 9 fadw weg 32
1. RIS

2. RIH

3. gdiA

4. qaH

Correct Answer :-

10) < IT & T Weg FH A A BT AT 82
1. WY
2. 2Ny
3. gaY
4. gy

Correct Answer :-

11) HTod § od Vs ALY & HRU THPR IAA ST §, ST PEA @ -
1. 3YfdBR

2. TeEIADPR

3. ST A PIS T

4, APR

Correct Answer :-

12) M BT S FUFE A I S A1
1. TR
2. TRIRIR
3. TMaRt
4, TR

Correct Answer :-

13) “ENAT FT IS FU A AT P ATS?
1. THITA
2. Gl
3. g@Ngal
4. g@I=A



Correct Answer :-

14) IgE B Y wU A A P ATR?
1. IgRfoft
2. IGTOR
3. I
4. IO

Correct Answer :-

15) HaFr & forg Td 3fy fawde & g1
1. Ad+TaT

2. AU

3. qad+3

4, qa+ag

Correct Answer :-
. ga+TH
16) ‘WA & forg TE wify fawde &1 g1
1. WA+
2. WA+AER
3. WA+ 3erd
4, H+3Med

Correct Answer :-

. TR+

17) R & fore 9 vafgarh ard zrss) &t ufea &1 g |
1. 2i=r, =i g

2. <fter =fid ey

3. 2t =i Tfer

4. IR = Aifer

Correct Answer :-

18) T & e W wafgarh arat 2r<g) #1 ufda w1 g1
1. GEaR, 3MTeh, qa it



2. TEAR, 31Teh, TRl
3. g1, 3MTel), T ar
4, TgT, 31, Tl

Correct Answer :-

19) Iaf F forg Wt wft fasde <t g
1. TaHR

2. SA+3B

3. g+

4. G+BN

Correct Answer :-

. 3I+BN
20) ‘RRATAITN IS FRA @ A A I TS

1. gord
2. fAoig

3. 3T
4, 3519

Correct Answer :-

21) ¢ BT IAE IR A AT GeTa¥ o1 o P el A A pan g2
1. SRISR BT UG B
2. SRR BT UBR AT

3. SRIEX S[d[ oI STHT

4. SRTSR BT SATd = ST

Correct Answer :-
o NI HTUGR DT

22) §g ®1diq g YeTa &1 A P fasaf A A parg?

1. 7 ferg ugn

2. ISR fe@ms &

3. G

4. §gd fai w1 fa

Correct Answer :-

. §gd faAi a1g fewn



23) g2 q Fe gAMT Gerak &1 3 A e A A S arg?
1. AR HAT

2. T-YY BR AT

3. e e

4. 3¢ Y & T

Correct Answer :-

o YT B T

24) &1 B ARG & o v Weg P A A p AT 2
1. 3&T

2. &I

3. 1&g

4. &I

Correct Answer :-
. e
25) MW B EY HERIA TS, FHA F T B wWoTdl |
Trd 99 gy yfer 78, s AF W vaerfa i AFm A s wr e
1. YOTH T
2. Mg
3. BB
4. YR

Correct Answer :-

Topic:- General English

1) Select the suitable conjunction to complete the sentence:

They were sad they were not granted permission to attend the concert.
1. and

2. 50

3.if

4. because

Correct Answer :-

* because

2) Choose the most suitable determiner for the given sentence.



Have you got sugar?

1. many
2. any
3. most

4, few

Correct Answer :-

3) Choose the appropriate modal to complete the sentence.
I am not free today, butI __ certainly see you tomorrow.
1. could

2. will be able

3. may

4. can

Correct Answer :-

4) Choose the appropriate articles to complete the given sentence.
Neil Armstrong was ____ first man to walkon ____ moon.

1. the, the

2. the, a

3. the, an

4. a,a

Correct Answer :-

5) Choose the appropriate articles to complete the given sentences.

The doctor says that mine is ____ hopeless case. He says that I should live in ____ open air.
1. a, the

2. the, a

3. the, an

4. a, an

Correct Answer :-

e a,the

6) Choose the appropriate prepositional phrasefor the given sentence:
The car driven by Ravi went and hit the lamppost.

1. with control



2. on control
3. out of control

4, over control

Correct Answer :-

« out of control

7) Choose the appropriate prepositionfor the given sentence:
Mysore is Karnataka.

1. by

8) Choose the appropriate noun to complete the sentence.
We use a little_____in our cooking.

1. oily

2. oil

3. oils

4. oiling

Correct Answer :-

e oil

9) Choose the appropriate artic/esfor the given sentence:
The helicopter landed on _____roof of ____ building alarming ____residents.
l.an, a, a

2.3, a, the

3. the, a, the

4. a the, the

Correct Answer :-

« the, a, the

10) Choose the appropriate form of the tense for the given sentence.
I___ never seen him this happy before.

1. am

2. have

3. had been



4. has

Correct Answer :-
e have

11) Choose the appropriate form of the adjective to complete the given sentence.
The _____ police station is five miles away.

1. nearer

2. nearest

3. nearing

4. near

Correct Answer :-
e nearest

12) Choose the appropriate prepositionfor the given sentence:
The rivalry the two groups increased after the elections.
1.in

2. between

3. among

4. at

Correct Answer :-

¢ between

13) Choose the appropriate articlesfor the given sentence:

I found ___ basket full of mangoes in the kitchen, I took only ___ripe ones.
1l.3,a

2. an, an

3. a, the

4. an, the

Correct Answer :-
e 3, the

14) Choose the option that best transforms the given sentence using a guestion tag
He hasn’t returned from his trip,

1. has he?

2. isn’t he?

3. have he?

4. hasn’t he?

Correct Answer :-



* has he?

15) Choose the option with the appropriate punctuation inserted in the given sentence.
He asked me whether I had written the letter

1. He asked me whether I had written the letter?

2. He asked me whether I had written the letter.

3. He asked me, whether I had written the letter?

4. He asked me, whether I had, written the letter.

Correct Answer :-

» He asked me whether I had written the letter.

16) Choose the option with the appropriate punctuation inserted in the given sentence.
Though the manager explained what to do we didn’t know where to go

1. Though the manager explained, what to do we didn’t know, where to go.

2. Though the manager explained what to do we didn’t know where to go.

3. Though the manager explained what to do, we didn’t know where to go.

4. Though, the manager, explained what to do we didn’t know where to go

Correct Answer :-

o Though the manager explained what to do, we didn’t know where to go.

17) Choose the correct form of verbs for the given sentence:

The dogs all night and us awake.

1. howls, keeping
2. howled, kept
3. howled, keeping

4. howling, kept

Correct Answer :-

« howled, kept

18) Choose the correct form of verb that is in agreement with the subject:
Thecourse ___ a holistic approach to learning.

1. are offering

2. offers

3. offer

4. have offered

Correct Answer :-

o offers



19) Choose the correct form of tensefrom the given options:
The Chief Minister the new Metro station tomorrow.
1. will inaugurate

2. is inaugurate

3. inaugurated

4. has inaugurated

Correct Answer :-
o will inaugurate

20) Spot the error in the given sentence:

All children is playing on the beach happily.
1. happily

2. is playing

3. on the beach

4. All children

Correct Answer :-

 is playing

21) Which of the following is the suitable prefix for ‘connect’?
1. de

2. pre

3. mis

4. dis

Correct Answer :-

e dis

22) Fill in the blank with the progressive tense(continuous tense) of the verb from the given options:
Virat very well in this inning.

1. will be batting

2. batting

3. was batting

4, is batting

Correct Answer :-

o is batting

23) Fill in the blank with simple present tenseof the verb from the given options:

Hari tea in the evening.

1. drink



2. was drinking

3. Is drinking

4. drinks

Correct Answer :-

 drinks

24) Fill in the blank with the appropriate prefixfrom the given options:
The Panama Canal is a ___made waterway.

1. under-

2. self-

3. man-

4. re-

Correct Answer :-

25) Fill in the blank with a suitable collectivenoun from the given options:
The police arrested the _______ of thieves who were active in our area.

1. group

2. gang

3. mob

4. crowd

Correct Answer :-

Topic:- General Mathematics

1) Rahul spendsg of his income on household expenses and% of his income on personal expenses. If his
monthly mcome is Rs. 48000, then his monthly savings is: /
G B W W I A F - T AfFId @ W A I F— @ AT 81 A
3! ATGS 3T 48000 TU §, dT 3Tk AlfGS a=d &

1. Rs. 15600/ 15600 YUY

2. Rs. 18000 / 18000 ¥YQ

3. Rs. 14000/ 14000 24T

4. Rs. 12500/ 12500 »4YQ

Correct Answer :-

« Rs. 14000/ 14000 4T



Which of the following is correct when the rational numbers -_9—2 B _?5 = :—: are arranged n a

S
descending order? /

aaqﬁﬂumm?'{"l—?;—: HaAUEr HA 7 cgaiead g, o eafead 7 & &9 a1
T

3) If the volume of a cylinder is 5677 cm?® and height is 7cm, then its radius is £

Ife U Sl &I HAdA 5671 FEHRT dur F=rs 7 W g, s9hl Bsar R
1. 9cm / 9THT
2. 3cm /39!
3. 7em / THHY
4. 1lem/ 1194

Correct Answer :-

« 9cm / 9Ht

4) Simplify: / T HL:
63 x82x 184
43 x 092 x 122

1. 1672

2. 1944

3.1816

4. 1722

Correct Answer :-

. 1944



In the given figure, /ZPOR =2x+ 5, ZROS =x -4 and 2QOS = 2x - 1. The measure of the smallest angle is i

Gw av &3 &, LPOR=2x+35, ZROS=x-4Td2Q0S =2x— 1. & BIC HI0T &l AT 21

1. 58°
2.45°
3.71°
4.32°

Correct Answer :-

o 32°

6) Ifa = (-20) + (-20) + (-20) + ......eeee 12timesand b = (-3) x(-3) x(-3) ,thena+ b = il
Tfg a = (-20) + (-20) + (-20) + cevrvereeee 129RTE b= (-3)x(-3)x(-3),d9a+ b= I

1. 267

2.213

3.-267

4.-213

Correct Answer :-

o 2267

7) Simplify: / GRA BN :
a(a+b)+b(b-a)-(a+3b)-3(a-b)
1.a%2 + b%-2ab-2a

2.a%+b%+2a

3.22+b%-2a

4.2 +b%-4a

Correct Answer :-

e a’+b’-4a

8) Simplify: | ARA DN

xy?(x* - x +2) - xy(x%y - 2xy +2y) - xy
1. xyz(x -1)

2. xy(xy- 1)

3.x%y(x -y)

4, xzy(y -1)



Correct Answer :-
* xy(xy-1)

9) Solve the equation: / FHIBT ) PN
18(2x -7) -5(3x-6) +12=0

1. 14

2.8

3.4

4.10

Correct Answer :-

10) A cylindrical vessel of diameter 18cm contains water. If iron spherical balls of radius 3cm are immersed in water, then
the number of balls required to raise the level of water by 4cm in the cylinder is: /

189 T AR TP TSR U & o =7 8 1 e 337 Brsan arelt ag ) MemeR el &t 5ra & garar 9 g, at
TSR U H A P TR B 437 95 SWR I8 & AU srawgs Af &) Wem &:

1. 16
2:9
3.8

4.12

Correct Answer :-

11) What is the probability that a number selected from the numbers 1, 2, 3, , 27 is a multiple of 3? /

T wiiepan ¢ % af Wemait 1, 2, 3, ,27 ¥ A TP =T g1 A1, ot 98 3 P U ghft?

e
ok

12) If the interest on Rs. 'y' for 4 years at R% per annum is Rs. 48, then the interest on Rs. '3y’ for one year at R% per
annum is: /



!T%‘y%’wu’fWR% ufaad &1 a3 | 4 9uf & fore =1, 48 FUT B @1 <3y’ FUAT UR RY% Ufaad &t g3 A U ¥ & fore
] 5:

1. Rs. 84/ 84 %4U
2. Rs. 96 /96 %UU
3. Rs. 48 /48 %UU

4. Rs. 36 /363497

Correct Answer :-

* Rs.36/36%UUQ

13) Raju bought a shirt for Rs. 1560 which is inclusive of VAT. If the list price of the shirt is Rs. 1500, then the rate of VAT is
ol

%lqwavmﬂwsomﬁaﬂm%ﬁmﬁ%zaﬁrﬁa%l gfe F e Ft T F1ad 1500 FUCE, dH T B R
|

1. 5%

2. 6%
3.8%

4. 4%

Correct Answer :-
e 4%

14) The angles of a triangle are in the ratio 7:13:16 The measure of the largest angleis ./
TS B0 &S HIN T AJUT 7:13:16 8 | I TS I H1 AIY 2l

1,'75°

2. 65°

3. 100°

4. 80°

Correct Answer :-
« 80°

15) The area of a square field is 7056 m2. A rectangular field whose length is thrice its breadth has its perimeter equal to the

perimeter of the square field. The area (in mz) of the rectangular field is ./

TP FHR ASH BT AT 7056 W2 B | T AMAATPR AgH, oRIa! darg sue! eTs &1 i1 1 7, 3R 39@T
TR, TP R A F TRHTT & SRR 8| AR AeH T a7%d (@2 #H) 7l

1. 5292
2. 6288
3. 6746

4. 5894

Correct Answer :-

e 5292



16) The area of the largest circle that can be drawn inside a rectangle with sides 4m x 2.8m is: /

47t x 2,87 yeTTSi AR U 3rmad F iR YEifhd BT oI WA arel e 92 99 BT ATa ©:
1.12.57 m? / 12.57 Hi2

2. 24.64 m? / 24.64 Hi2

3.6.16m?/ 6.16 HI2

4.9.62 m?/9.62 |2

Correct Answer :-

e 6.16m?2/6.16 |2

17) The respective ages of A and B are in the ratio 3:4. Three years later their ages will be in the ratio 7:9. The present age of
Bis ol

Aamsgﬁvi'q'ﬂa 3T BT JUTd SHHT: 3:4 § | T T UYTq ST 3TY BT U 7:9 Bl S| B P T 1Y
. 1

1. 28
2.18
3.24

4. 20

Correct Answer :-

18) Points (-1, 0) and (2, 2) are the extremities of a diagonal of a parallelogram. If the third vertex is (4, -1), then the
coordinates of the fourth vertex are: /

g (-1,0) T 2, 2) TP HHIR 9gUH & & fawol & R 71 afe A RRT (4, -1) 3, a9 93 RR & Fd=nian 6
1. (-2, 1)
2. (2, 4)
3.(1,-3)

4.(-3,3)

Correct Answer :-

19) A man sold his sewing machine for Rs. 12500 and incurred a loss of 20%. How much did the sewing machine cost him? /
e aafd A -t fyars w=fte &Y 12500 T A J97 3R I/ 20% 31 71 g5 1 Ryars w=i= &1 anTa geu Fam ur?

1. Rs. 16240/ 16240 >UUQ

2. Rs. 14600 / 14600 ¥YU

3. Rs. 15625 /15625 %4UQ

4. Rs. 13550/ 13550 ¥UU

Correct Answer :-



» Rs. 15625/ 15625 %UUQ

20) A man goes 12m due east and then Sm due south. How far is he from the starting point? /

TP Aot g 12 Wiex gd o5t 3R b 5 Hiew gfemor 5t 3R 5irar 31 a8 Rt fig | frargr 32
1. 15m/ 158t

2. 13m/ 1381

3. 19m/ 1991

4. 17m/ 179t

Correct Answer :-
« 13m/ 138

21) Out of a wire of length 81.6m, if 1.7m long pieces were cut, then how many pieces were obtained? /
81.6 HieX @ Ud aR |, Al 1.7 Hiex dars ard ghg ®1e WY, dt fraq gos ura i

1. 56

2.38

3.42

4. 48

Correct Answer :-

* 48

22) Nitu can do a piece of work in 8 days and Ritu can do the same piece of work in 10 days. How many days will they take if
both of them work together? /

g P Fd F1 8 AT A B Tt § qur g Sft &rd Y o1 fo= & v It 81 afe 1 3 ol &)Y uep |ry el
&, A orf wuTwE g # e wwa s

4.

Correct Answer :-

23) 4.89 x 107 in the usual form is: /
4.89 x 10”7 T IHRG FUE:
1. 0.00000489

2. 0.000000489



3. 0.0000489

4. 0.0000000489

Correct Answer :-

« 0.000000489

24) For what value of 'k' the system of equations 3x - ky = 2 and 6x - 2y = 3 is inconsistent? /

‘P g A & forg, T e 3x - ky = 2 3R 6x - 2y = 3 SR &2

25) The difference of the areas (cm?2) of a circle with circumference 44cm and a square of perimeter 44cm is /

44 QY af¥fRr a1 U g qUT 44 T A0 919 U T F mwel @) AR B
1. 28
2.0
3.24

4.33

Correct Answer :-

e 33

Topic:- General Knowledge

1) Which of the following city was the capital of Madhya Pradesh at the time of independence of India? /
YR B T & Ty FFafefad & F #19 a1 e aer wer Bt ey 3T

1. Nagpur /- TYR
2. Indore / 3& N
3. Gwalior / TdTfeRIR

4. Jabalpur / T4}

Correct Answer :-

» Nagpur /FTYR

2) Which of the following is the oldest University in Madhya Pradesh? /
fFrfafaa & @ geauesr &1 9a) WA Ryfaaa s ar e

1. Barkatullah University/mﬁ%ﬁﬂm

2. Dr. Hari Singh Gour University /31 gRI¥E R fayfaemea



3. Jiwaji University / Sitarelt fayfaeme
4. Vikram University / fawH fayfaemea

Correct Answer :-

o Dr. Hari Singh Gour University /8T, mﬁ?ﬁ’dﬁw

3) Which team did India beat in the finals of Men’s Hockey Asia Cup held in October 20172 /
SRIER 2017 H AT g3 IOV gio! TRMAT HY & BIg-d A HRd A frd 9 &1 wred far un
1: Malaysia/mfm

2. South Korea / GI&{0T ®ITAT

3. Japan / SITUTH

4. Pakistan / OTfcbecT

Correct Answer :-

e Malaysia / AR

4) Which among the following has won the highest number of national awards for the best actress in India? /

YRA H W WG IR waad A &1 g R Fafife § | e siars?
1. Smitha Patil / T TTfe e

2. Kangana Ranaut / 7T 310

3. Shobhana / ]ITHAT

4. Shabana Azmi / JISTT ATSTHT

Correct Answer :-
¢ Shabana Azmi / Rl Gﬂ\_ﬂ:ﬁ

5) Which cricket team has won the Irani Trophy cricket tournament 20187 /

o fpdbe & = adf 2018 T ST+ 1w fobdbe gaitde Sitar
1. Mumbai/Haé
2. Karnataka / Bl

3. Vidarbha / fagsf

4, Saurashtra / @?Tg

Correct Answer :-

« Vidarbha / fagyf

6) Which of the following is the state animal of Madhya Pradesh? /
fFrafafaa & ¥ &9 a1 g uew &1 ISy Uy 82

1. Barasingha / aﬂgﬁﬁ'ﬂ

2. Nilgai / e

3. Elephant / ET?-ﬁ



4. Lion /¥R

Correct Answer :-

« Barasingha / IRERAM

7) Which of the following district of Madhya Pradesh is famous for its manganese ore? /

T weRT & Rt ford & @ o1 a1 frer Amie s & fore ufrs 82
1. Balaghat / STCITHIC

2. Burhanpur / §ReTYR
3. Mandla / ATSAT

4, Mandsaur / H&OR

Correct Answer :-
 Balaghat / dI¢ITHTC

8) Which state government has recently raised the retirement age of its government employees from 60 to 62 years? /

BT 8 7 5 H T50 PR 7 eI SHAGl B Aaf=giy 3y &) 60 V TeTHR 62 B a1 82
1. Goa /T

2. Jharkhand / SIRES

3. Kerala / H_d

4. Madhya Pradesh / H&I P

Correct Answer :-
o Madhya Pradesh / H&J e

9) Chhattisgarh was carved out of Madhya Pradesh in the year ./
CL] H A Y 3T Y SUIRNIS I F79T 7497 AT
1. 1998

2.2003

3. 2005

4. 2000

Correct Answer :-
« 2000

10) India’s first helicopter-taxi service has been launched in which of the following city? /
fraff@a e # yrd 1 ugdt eelftaip-SRf Ja1 Y& #1152

1. Delhi / feeedt

2. Kochi / Yt

3. Bangalore /QW
4. Hyderabad / %HTWI?I



Correct Answer :-

» Bangalore / aTIT’R

11) Sandhya Agarwal of Madhya Pradesh has captained the Indian team in which of the following sport? /

e YT Bt WA SrraTd A Frafafed # & fra @a # wrdt & &1 Agw@ fean
1. Hockey / BlabI

2. Table Tennis / & ¢H

3. Cricket / fhdve

4. Volleyball / GTciara

Correct Answer :-

« Cricket / fohdpe

12) How many states in India have sea coast? /
YR & fraa Toat & ws ae 82

1.9

13) Bina Oil Refinery is located in which of the following district of Madhya Pradesh? /
1 da RoeTet, 7o wew & @ # @ fra R A R &2

1. Damoh / m@'

2. Sagar / 9T}

3. Raisen / YT

4. Rajgarh /XS1e

Correct Answer :-

o Sagar /IR

14) The Marble Rock is located near in which one of the following cities? /
Arda e fafafad w7 & fea &t fRa @2

1. Neemuch / =1Td

2. Orchha / 3fR®T

3. Jabalpur / SIIeTYR
4. Pachmarhi / ‘TtTFI_Gﬁ

Correct Answer :-



* Jabalpur / SI&[¢TYX

15) The birth place of the noted playback singer Lata Mangeshkar in Madhya Pradesh is of
AV H RIS WS TS TaT HASR BT T R :l

1. Indore / 3@?

2. Rewa /JfaT

3. Pithampur / Tﬁw

4. Chhindwara / f&§garsr

Correct Answer :-

e Indore/ 3@7

16) The Murrum Silli Dam is located in which of the following state? /
o Rt gty fFrafafea 3 @ fPu o A Ra 32

1. Chhatisgarh / SXITTG

2. Jharkhand / IRES

3. Madhya Pradesh / U] P

4, Bihar / f98R

Correct Answer :-

« Chhatisgarh / BUTG

17) Who is the author of ‘Kamayani’, the epic poem in Hindi? /
& & wereTa i SEEH F TWEER 14 82

1. Suryakanth Tripathi ‘Nirala’/ WW AT

2. Sumitranandan Pant / GG Ud

3. Jaishankar Prasad / STARIHR UG
4, Mahadevi Verma / q@ﬁ?ﬂaﬂf

Correct Answer :-

« Jaishankar Prasad / STORIDHR UG

18) Who is the present Chairman of Railway Board? /
a1 & T A Srehe B 72

1. AK Mittal / Teb foreiel

2. Arunendra Kumar / 31%01% R

3. Pradeep Singh Kharola /u‘cfrqﬁgm

4. Ashwani Lohani / G{H:ﬁ?ﬁgl:ﬁ

Correct Answer :-

« Ashwani Lohani / 3% Fil%l#



19) Who is the present Governor of Madhya Pradesh? /
A YSR H1/@! I IqUTd P 82

1. Bhai Mahavir / 4TS HGTdR

2. Anandiben Patel / 3Fla- Ged

3. Rameshwar Thakur / STHRAR SIP

4. Ramnaresh Yadav / SRR ATed

Correct Answer :-

« Anandiben Patel / 3FigIa- ged

20) All shareholders of a company are its sl

TP U I MRS TS B
1. directors / Fe=®

2. creditors / TIGR

3. debtors / GTGR

4. owners / H1fcid

Correct Answer :-

« owners / HTfcI®

21) “Tulsi Samman’ of Madhya Pradesh Government is given in which one of the following fields? /

e USRI XM $T ‘gt g fFafafed @ fea &= & for fear sirar g2
1. Social work / STHIIH BRI

2. Folk arts / A Helld

3. Literature / ITfgcd

4. Music / G1fid

Correct Answer :-
« Folk arts / AP DA

22) National Science Day is celebrated in India on of every year. /
TS I &1 YR H AP Frgr feray weman s 21

1. 31 March / 31 A/

2. 31 January / 31 SIHaRI

3. 28 February / 28 BRa%}

4. 30 April / 30 30

Correct Answer :-
« 28 February / 28 ThRaR]

23) Chanda Kochhar, who was in the news recently, is the Managing Director and Chief Executive Officer of which Bank? /



deT IR, W 71a &1 A R F off, f5w §o 3t way e ok g1 srdart sttt §2
1. Axis Bank / UfRIg %

2. State Bank of India / HRdRI R &

3. HDFC Bank / TISIUGY! S

4. ICICI Bank / TS YTeS TS d&

Correct Answer :-

« ICICI Bank / 3TEHarEdian Sie

24) Kedar Nath Singh, the Jnanpith Award winner who passed away recently, was associated with which of the following
language? /

IS 3arS fasiar Fer=my Rig, et sa @ A g g8, P v A 58 82
1. Bengali / TGl

2. Marathi / FRTST

3. Hindi / fgdl

4. Punjabi / GSTTall

Correct Answer :-

« Hindi/ &l

25) Tipu Sultan was the ruler of which of the following territory? /

g g Frafafaa # 3 5w & &1 mae ure
1. Travancore / ATGUDR

2. Vijayanagar / fas TR

3. Hyderabad /%HTWI_Q’

4. Mysore / ﬁ'{f

Correct Answer :-

» Mysore / aﬂ:{

Topic:- General Computer

1) Aformulalike “=SUM(A5:B5:C5:D5:E5)" to the below MS-Excelsheet would give the following result: /

ARy & 715 vHTE-QaTe ofie #, Udh §F “=SUM(A5:B5:C5:D5:E5)" fee=T RO &am:
| A | B | ¢ | D | E F
[

1

2 |

3 |

4

5 | 25 25 25 25 25] 1
1. 125
2, 35
3. 100

4. 50



Correct Answer :-
e 125

2) Which of the following is a correct format of Email address? /
Frafafaa & ¥ $19 91 S99 TS &1 98l Bide 82

1. www.enggofdesign.com

2. engg@design@info

3. engg@design.com

4. engg.design.com

Correct Answer :-
» engg@design.com

3) Which icon to be used to undo? /

3rg ¥ ford 19 A P BT WART HAT ATfeT?

[

K

Correct Answer :-

*) CANCELLED

Which of the following are not MS PowerPoint views? /
frafaf@d # § o1 91 THey tfaRwrEe o T8 82
1. Normal view / ATHS =2

2. Page view /aﬁfal

3. Print view / fife g

4. Outline view / 33T

Correct Answer :-

» Page view /'af\_ﬂal

5) LCD, Scanner, Printer are devices. /

TaE, R fiier | fRaa gl



1. Software / ATHCATR
2. Humanware / Emﬂém
3. Firmware / THATR
4. Hardware / 61@"811?

Correct Answer :-

e Hardware / E'Iéam

6) Which file format can be added to a PowerPoint show? /
59 BTsd BTHc & Te UTeR WiEe I | SIST o Yodl 82
1. .mp3 only /Had .mp3

2. .wav only / Had .wav

3. .jpg only /Had Jpg

4. all of the above / Juad Tt

Correct Answer :-

« all of the above /E'q?jaﬁﬂlﬁ

7) Which of the following is the latest version of MS-Excel? /
fFafafaa 7 ¥ 19 91 ey TRd BT Tdaq T g?
1. Excel 2007 / TaId 2007

2. Excel 2010 / T&d 2010

3. Excel 2016 / Tdd 2016

4. Excel 2013 / TId 2013

Correct Answer :-
« Excel 2016/ TR 2016

8) Which of the following has the highest storage? /
Frafafaa & & frud ved sarer R gar 82
1. Kilobyte / fhaliarge

2. Megabyte / THTETSe

3. Terabyte / %TWI%_C'

4. Gigabyte / HikIC|E

Correct Answer :-

o Terabyte / ézlalsa

9) Which of the following short cut key is used to print a file? /
TP BIsd & fiie B & e = widee g @:

1. Ctrl +V



2. Ctrl +A
3.Ctrl + P

4, Ctrl + X

Correct Answer :-
o Ctrl +P

10) In windows 7, the folder where the documents, pictures, music and videos are stored is called the il

fdsir 7 9, 98 wics: o sTagicd, e, fore ok difsal ek g §, 59 FHETAEI B
1. Documents / SIFIHCH

2. My Documents / AT SIagHCH

3. Library / QTSSRT

4. Desktop / S¥HCIT

Correct Answer :-

e Library /T‘ﬂ%ﬁﬂ

11) The basic input/output instructions are stored in i/
IRTP FYe/IANFeYe SRHRM ARREA S

1. RAM /3™

2. ROM /3

3. CPU / HIUIg.
4. Hard Drive /313;3133

Correct Answer :-
« ROM /M

12) The process of banking transaction through internet is called o

$exae & AregH | S Sarer 5 ufpar Heardi gl
1. e-finance / g-tb—lgﬁﬂ

2. e-salesmanship / s‘-ﬁwﬁﬁm

3. e-selling / 3-2feiT

4. e-banking / 3-8fpTT

Correct Answer :-

e e-banking / g-aﬁﬂ_"[

13) In MS Excel, the intersection of a row and a column is called a ./

THTH TEAd H, T 3 3R U BiaH P Ufasded (S<HaR) BI eI AT 2l
1. Cell / q@

2. Square / i



3. Row /3

4. Column / HIaH

Correct Answer :-

. Cell /T

14)  Kkeystroke is used to go to the end of the document. /
P, Stagie & TR & o & Rig sedwre fRear e 2 |
1. Ctrl + End
2. Ctrl + Home
3. Top

4. Escape

Correct Answer :-
e Ctrl + End

15) A document can be created using o

ThETRgHe, ISR BId U AT o bt 2|
1. MS PowerPoint / THTY UTaR Wrsc

2. MS Word / THTH 95

3. MS Excel /@Q’HW

4. MS Access / THTY TR

Correct Answer :-

« MS Word / THTH T8

16) Which of the following is NOT an external memory? /
frafafed & @ o= 9 te teiea a9 81 82

1. Pendrive / ﬁﬂs’rﬁ

2. Hard Disk / 8TS &%

3. Scanner / SR

4.DVD/ SHdst

Correct Answer :-

e Scanner/ TR

17) Animage file would have the following extension: /
TS 30 BISd P TeHe T (A-fetad ghm:

1. .img

2. .exe

3. .cls



4. .bmp

Correct Answer :-

18) You email to Anand, but then receive an error message of undelivered mail. What is the most likely cause of the problem? /

3TY 3T B -0 BT 8, AP AU TH FR AW U giaT @ 6 st S0 fEehiar 7Y g3 B | s ww=ar &1
T HHTad PR T 82

1. Anand’s computer is not turned on. / WWW?@:{E&%I
2. Anand’s mailbox is full. / 3fHig &1 L REIESRIN g3l %I
3. Anand has not opened his email. / KIEr a{ws‘ﬂaqﬁ@wél

4. Anand is not at home. / WWW?@%I

Correct Answer :-
« Anand’s mailbox s full. / 3fTFg BT Haalad HRT g3 g

19) In MS Word 2007, which of the following is not the Section Break Option? /
THTH T8 2007 #, Frfafad # @ o9 a1 J)E 8% HwH 981 82

1. Even Page /anﬁ\_ﬂ

2. Next Page / ARE U

3. Odd Page / 37 oo

4. Previous Page / iy o

Correct Answer :-

e Previous Page / fOrdog 0w

20) In MS Word 2007, If you press Ctrl + F from the keyboard. It will ./THTE 98 2007 ¥, Tfe 3TY HIaIS A Ctrl + F

@A e, Y [
1. Open Page Setup Dialog box with activating Layout Tab. /
AATIC ¢ P! Ufdede Hd §U Ul Ye3y STQANT S1aT 319+ BT g
2. Open Find and Replace Dialog box with activating Find Tab. /
1SS o9 Bl Ufdede Hd gU BTES TS Ry STaeiiv s 3y el |
3. Open File Save as Dialog box. /
SN S & ¥ & BIsd 44 SH10d PRl 5|
4. Open Font Dialog Box with activating Font tab. /
ive 29 B! Ufdede BHrd gU HIUe ST ST 310 Rl g
Correct Answer :-
« Open Find and Replace Dialog box with activating Find Tab. /
BTES ¢8 Bl Tfdede Hd U BTEs Us R Sal aied 3+ Hral g |

21) PowerPoint presentation is a collection of ./



IR @ige Ysiex 1 TS FARM g

1. Outlines only /éﬁa 33cdey

2. Slides and Handouts only /WW G?IT%_&'&HGW
3. Speaker’s notes only /Wmm

4. All of the above / JTad Joft

Correct Answer :-

¢ All of the above /Gmifﬁﬁlﬁ

22) Which of the following icons stands for Firefox? /

fr=afafaa & @ @19 91 3eed PrRRGIe &) fAefid #arg?

4.

Correct Answer :-

23) Which one of the following is an example of “Title Case”? /
Frufafea & & 919 91 T3 “elsed 9 $T 3gTe01 72

1. good evening

2. good Evening

3. Good Evening

4. Good evening

Correct Answer :-
* Good Evening

24) |dentify the correct equation with respect to memory storage. /
AR €IS & HaY | T THIDHR0 B Ugan-g|
1. KB > MB > GB

2. MB< KB <GB



3. MB > KB > GB

4. KB<MB <GB

Correct Answer :-
« KB<MB<GB

25) The following font style has been applied to this text — " Raghu is my best friend”:/
Frafafaa dfe & @ #19 d wie Akt &1 53a9Ta a1 7491 § - “Raghu is my best friend’:
1. Underline onIy/ﬁiT% 3z

2. Bold / e

3. ltaliconly / mﬂ?%

4. Both Italic and underline / 5%&"135123 3 AE]|

Correct Answer :-

¢ Both Italic and underline /3%&*1?5123 K ECGIED Eﬁ:h

Topic:- Logical Reasoning

1) 400 gm of sugar solution has 40% sugar in it. How much sugar should be added to make it 50% in the solution? /
400 98 F & e & 40% 0 81 39 e 31 50% 9% w1 & e sifafvad fraet 9+t frarh @fike:

1. 40 gm / 40 UTH

2. 50 gm /50 U1H

3. 80 gm / 80 UTH

4.60gm /60 UH

Correct Answer :-

« 80 gm /80 Y

2) Find 4- % of Rs. 1600. /
1600 TUT T 4 % AT HY|

1. Rs. 72 / 72 ¥UU

2. Rs. 82 /82 30T

3. Rs. 92/92 ¥UT

4. Rs. 62 /62347

Correct Answer :-

e Rs.72/72%4Q

3) If X: 21:: 5:3, then find the value of X. /
g X:21::5:3, 99 X HT {HE F1d Do |

1. 35

2.25



3: 30

4. 40

Correct Answer :-
e 35

4) If 39% of persons like papaya whereas 96% of persons like banana, then what can be said about the least
percentage of persons who like both papaya and banana? /

Tfe 39% @RT UdiaT URiE FHd &, TafP 96% T HdT e Hd 8, 99 gAaH fha ufa=ra @i & IR & Hg1 1 gPpdr
? 7 9t udftar 3k e S wRig Fa 82

1. 50%
2.35%
3.45%

4. 40%

Correct Answer :-
e 35%

5) Rekha gets 93 marks in her exams. This number is 50% of the total marks. What are the maximum marks? /
3T A T H 93 30 T fHY | T 3w, FA BT BT 50 % ¢ | Then & Siftrpan 3iw fraa 82

1. 186

2. 182

3. 184

4. 180

Correct Answer :-
« 186

6) If the first and the third digits in each number are interchanged, then which number will be the second lowest? / 'Q'ﬁ'

TS HOI # gt 3R AR 3 I STUH # Fqer fGar orar & @ I A1 o gt faw ghme
129, 642, 921, 476, 308

1.308

2. 921

3. 129

4. 642

Correct Answer :-

. 642

7) If X exceeds Y by 40% and Y is less than Z by 20%, then find X : Z. /
Tfe X,Y ¥ 40% SAGT 8 3R Y, Z A 20% HH ¢, 99 X : Z FId BIfog|
1. 26:23

2.19:17



3. 28:25

4.21:17

Correct Answer :-
e 28:25

8) In what ratio must a grocer mix two varieties of pulses costing Rs. 14 and Rs. 18 per kg, respectively, so as to get a
mixture worth Rs. 16.50 per kg? /

TSGR, 3 et 3t grel; e gea wusr: 14 FU ufa frat ik 18 Fut ufa fran 8, @1 forw srgura A g &%
AP 16.50 WA Fran gea &1 v ot wrea g1

1.2:5
2.5:2
3. 355

4,53

Correct Answer :-

9) A book was sold for Rs. 55 with a profit of 10%. If it were sold for Rs. 53, then what would have been the percentage of
profit or loss? /

TS fha1d 55 92 | 10% & AT IR 991 T | afe a5 53 Fod F 9t A g, o @y an g &1 wia=ra T gan
1. 6% Profit / 6% <TH
2. 4% Loss / 4% BT
3. 2% Loss / 2% 81

4. 3% Profit / 3% <Y

Correct Answer :-
e 6% Profit/ 6% dTYH

10) The average score of a cricketer in two matches is 30 and that in three other matches is 15. Find his average score in all
the five matches. /

31 O 7 U fbdher &7 3iTd WP IR 30 8 3R 3= i< &= & 15 31 |aft 5 #= 1 Sa 3rquTa a S|
1.20
2. 19
3.22

4.21

Correct Answer :-

o 21

11) In a group of 80 people, 32 persons like rice, 57 persons like roti and each person likes at least one of the two foods. How
many like both rice and roti? /

80 SafeTal & TP g H, 32 SAfRT I1ad UHE Hd 80, 57 TR A} WG B & 3R TP Al 1 HH | HH g1
W A | U Wig ¢ | fra aafdy arae iR At g1 qdig dRa 802



12) A super-fast train runs at the rate of 54 km an hour. What is its speed in meter/sec? /
TS GIREIRE ¢ 54 foit. ufay ge1 Ft R A 90 61 3 | swat 9, A A w2

1. 12 m/sec / 12 HA

2. 13 m/sec / 13 HA

3. 15 m/sec / 15 HI/A

4. 10 m/sec /10 Ha

Correct Answer :-
e 15m/sec/ 15 A

13) Subodh bought a cycle for Rs.770. For how much shall he sell it so as to incur a loss of 10%? /
Ay A 770 TUC | TP AT3fpa W | 98 Arsfpd fham & 3 f 39 10% wfa=ma g1+ o us?
1. Rs. 663 / 663 ¥UU

2. Rs. 693 / 693 24U

3. Rs. 683 /683 24U

4. Rs. 673 /673 34U

Correct Answer :-
» Rs. 693 /693 34U
14) If Rajpal purchases a pen for Rs.55.25 and he wants to gain 20% on purchase price, then find his selling price. /

Tfe ST 55.25 FUT B Uh Had WedT 8 3R 98 WG o W 20 % ATH FHHT I184dT 8, 99 39 A $T faspg
T J1d S |

1. Rs. 65.30/ 65.30 ®UUQ
2. Rs. 66.30/ 66.30 ¥49U
3. Rs. 64.30 / 64.30 ¥4UQ

4. Rs. 67.30/67.30 24U

Correct Answer :-

* Rs. 66.30/66.30 2UT

15) A man has 80 pens. He sells some of these at a profit of 12% and the rest at 8% loss. On the whole, he gets a profit of
11%. How many pens were sold at 12% profit?/

T® 3Tt & UTH 80 FaH 3| ITH | O B! 98 12% & ATY 3N TP B 8% Bt g1 WX I9aT 81 o AT a8
11% BT A1H U BT 81 12% TTH W 32 T Had! o1 Ie &1 A2



1.76
2.73
3.75

4.74

Correct Answer :-
e 76

16) Find the average of first 50 natural numbers? /
YT 50 WP fad T3 HT 3T [T B2

1. 26.5

2.225

3.24.5

4.25.5

Correct Answer :-

e 255

17) If A and B are two sets such that n(A) = 18, n(B) = 37 and n(AUB) = 39, then find n(A1B). /
Tfg A 3R B I IH= WA & fF n(A) =18, n(B) = 37 3R n(AUB) = 39, A9 n(ANB) A B |

1. 14

2. 16

3. 18

4. 15

Correct Answer :-

18) the average mark of a student in four subjects is 70. If the student obtained 75 marks in the gth subject, then the new
average is: /

TR vl § te o B1 3 3 70 §1 9f BT 59 RIwa F 75 3/ WIE BT 2, 79 SHBT 7T 3 B
1.70
2.72
3.71

4. 69

Correct Answer :-

e 71

19) The average age of a grandfather and his grandson is 33 years. The ratio of their ages is 10:1 respectively. What is the
grandson’s age? /

TS 31T 3R I UId B} 3T 31g 33 96 81 IAD! 3T PT SAJUTH HH: 10:1 81 T B 3T T 32



1. 6 years/ 6%
2. 4years/4aﬁ
3. 24 years / 249

4, 40 years / 40 G

Correct Answer :-

e 6years/6 a'ﬁf

20) The difference between 70% of a number and 51% of the same number is 323. What is 62% of that number? /
TS BT F 70 % 3N I BN F 51% F 19 FT 3R 323 | I WWAT BT 62% fpa1 32

1. 1159

2. 1037

3. 1178

4. 1054

Correct Answer :-

e 1054

21) The present ages of Gopal and Abhinav are in the ratio of 5:6 respectively. Seven years hence, this ratio will become 6:7
respectively. What is Gopal’s present age in years? /

TMuTer 3R ST B T 3T FT ATUTT HHM: 5:6 3 | TTA a4 qTG, AP AT BT U HHT: 6:7 BT FA | NITA
B gfar Iy aul § fpa-t 32

1.35
2.49
3.42

4. 32

Correct Answer :-

22) Mohan crosses a 900 meter long street in 5 minutes. What is his speed in km per hour? /
Hig 900 Hex et T BI 5 e # UR war ¢ | ST 1 fpartes ufa ger & Far 32
1. 10.8 km/hr / 10.8 fpHi/der

2. 8.4 km/hr / 8.4 fobeil/Eier

3. 8 km/hr / 8 febHi/eier

4. 10 km/hr / 10 fepHi/eier

Correct Answer :-

« 10.8 km/hr / 10.8 fowi/ger

23) What number has to be added to each term of 3:5 to make the ratio 5:6? /

3:5 BV 5:6 B AU A T & oY 3% UAS U A HI A =T IS |



1.7
2.6
3.8

4.5

Correct Answer :-

24) The ratio of the mother’s age to her daughter’s age is 4:3 respectively. The product of their ages is 768. The ratio of their
ages after 4 years will be: /

wﬁgmmmmgaﬂaﬂmﬁsmmmz 4:3 3| ST AT BT UG 768 § | 4 TTA qIG STBT AT BT
T B

1. 5:2
2.11:7
3.13:9

4. 9:7

Correct Answer :-

25) A truck covers a distance of 2856 km in 42 hours. What is the speed of the truck? /
TS TP 42 U2 ¥ 2856 fll F1 gt a9 FRar 31 TH B 919 R 7?2

1. 73 kmv/hr / 73 fbeit/dieT

2. 75 kmv/hr / 75 fopHi/deT

3. 68 km/hr / 68 fopHi/deT

4. 62 km/hr / 62 foHii/EieT

Correct Answer :-

« 68 km/hr / 68 foHl/geT

Topic:- General Management

1) Socio-cultural environment constitutes the firms’ o]
TSPl ararazol, BH BT TS P18

1. all of the above / Judad aft

2. micro environment / J& YTaRT

3. macro environment / QE'E[UHTGTUI

4. internal environment / 3fidRe TafaRoT

Correct Answer :-

« macro environment / QBF[WTUT



A business entity created by two or more firms coming together, characterized by shared ownership, risk, returns, and
governance is called wf

[TE Wi, wifaw, e ofik wmea & gy siftraféra, 3 ar 3t & siftres wuf §RT Ue 1Y U S s@1s &1
famtor HEAEI gl

1. Take over / BTYHR FHTAT (éa; GnER')
2. Acquisition / ST ( Vi)

3. Merger / IERRE] (IIT!{T)

4. Joint venture / Hgdd IGH (SATsC a?R')

Correct Answer :-

« Joint venture /ﬂ"{ﬁﬁ IH (SdTec a?ﬁ)

3) Which of the following is characterized by a narrow span of management and a higher number of hierarchical levels? /
frafafeaa & @ @19, ydus ot dotvl srafl ok Jurfe Wi $t 3@ ' gr1 afvfa @ rfiaféa) faar smar g2

1. Tall structure / €Il IR

2. Line authority / g SYTREY

3. Staff authority / T1h YRS

4. Flat structure / Dﬁ'c’w

Correct Answer :-

o Tall structure / ﬁam

4) Which of the following word is used for defining the organization’s reason for existence? /

fFafafET & @ o149 91 Weg, WTe & fRTa & SR B URUTRE H & e sxaara faar wmar g2
1. Mission / FH=

2. Goal / A&

3. Vision / Gpf¥

4. Objective / IET

Correct Answer :-

« Mission / TR

5) According to the process of an organization change, the three stages in the process are unfreezing, learning, and ol

wmu%?ﬂqaﬁuﬁmﬁmw, 39 ufsear & i =vor fFraeor gern (e, dear @), iz
|

1. formalization / 3R IHRUT (BTHATSHIRI)

2. refreezing /g?%ﬂﬂ m'[)
3. restructuring / G181 (Regerafiam)
4. relearning /W&FTH (ﬁﬁ'ﬁ'ﬂ)

Correct Answer :-

. refreezing/‘fl%ﬂ:l( fBToT)



6) According to Herzberg’s two-factor theory, the presence of which factors in work environment don’t lead to increased
motivation, but their absence leads to increased dissatisfaction? /

ot & G-PRS Rigid & AR, FII wafaRor § 9 § $RS WU &1 781 981 8, e 7o srquiufa 3
AT 9 ATAT 82

1. Dissatisfiers / fSTafeawmrd

2. Motivators / 3{fHIR® (ﬁlﬁﬁ?ﬁ)

3. Satisfiers / AfeqHET

4. Hygiene factors / TS dl HR® (BTl o)

Correct Answer :-

» Hygiene factors / ¥ AT PRSP (B39 qm

7) Funds that are readily available for disbursement are known as: /
HIaRor & g ST & SUdsy B B §H UHR ST STl &:

1. Reserves / g ( m

2. Receivables / UTE J1FRMT (F{ﬁléa?\q)

3. Inventory / aﬁ-ﬁ?ﬁ (3‘3?;‘1)
4. Cash /g (%WT)

Correct Answer :-

« Cash/¥HG (PN

8) Tangible goods that survive multiple uses and are used for longer durations are known as: /
Td I St AT IuEN 9% ged T8d € iR Y &1 a s fr o €, e sea 8
1. Non-durable goods / Sfeqoitd ATd

2. Services / QHT&

3. Durable goods ARCIR |

4. Fast moving consumer goods / ThT¥C Hﬁ'ﬂ HYMR TS
Correct Answer :-

o Durable goods | feors A

9) Goods that satisfy the wants of the consumer indirectly by producing goods for direct consumption are known as: /

q HTE, S UIE IUUNT & T ATe o1 IS FRP AU FU F IUHITT B 301341 31 gee Hd &, A F wu A
EIEEICES

1. Indirect goods / UIE& HIT
2. Producers’ goods / 3T HIA
3. Direct goods / Y& HIST

4. Consumer goods / I AT

Correct Answer :-

« Producers’ goods / 3Tgd HIT



10) Collaboration, avoidance, accommodation, competition, etc, are types of which of the following in an organizational
management? /

HEaRT, URER, 3mar™, ufovasf s@ne, To Hireaes ydua # FAafifea d § s e ueR 82
1. Strategic decision making / Turfiferes fAofaa @m St ﬁﬁ;‘T)
2. Conflict management / EREIIERCEES CRNIE ﬁeﬁ‘lﬁf)

3. Motivation / URUTT (mﬁm
4. Learning / 3{feRTH (ﬂ'ﬁ'ﬁ'l)

Correct Answer :-

« Conflict management / faRTemyT ueeE (MTE léI"D'!\_ﬂ'ﬁf?)

11) In the BCG Matrix, the portfolio of products is divided in the four categories based on market share and ./
drfteh Afeey ¥, Iael & TIEHIfM #) Arhe R IR, F YR W TR A0 & fayvfora fear man 21
1. market structure / STSTR TRTAT (Iﬂéﬁ ICFR)

2. market price / dISIR PIAd (Il'lg‘»_d PIES))

3. market growth rate / STSIIR q@ 5 (rﬂ% ‘J)f‘qi?)

4. market value / STVIR HcJ ('HT&' é?qg

Correct Answer :-

» market growth rate / dISIIR q@ 33 (m% ‘zﬁﬁﬁ?)

12) Dividing a market based on the age, gender, income, or religion is known as: /

3my, fiw, 3ma ar o & MUYR W TP IR $i fauTira &w=r FFUATATSET I
1. Psychographic segmentation / mﬁmﬁuﬁﬁwm

2. Geographic segmentation / Urmiferes fauTsiep o

3. Demographic segmentation / SR g fauTSiiaur

4. Behavioral segmentation / WB’RE'I?[ fquTSitmoT

Correct Answer :-

« Demographic segmentation / SRS g faUTSiiaur

13) Dividing the customers in the market based on their personality traits, lifestyle, or values is known as: /

3 fdRTed A&UN, SitaT et a1 Jeul & SMUYR R S9R § AEH| BT fAUTSH =1 dgardar 8:
1. Psychographic segmentation / mﬁlﬂ\_ﬂ?

2. Geographic segmentation / Urmiferes v

3. Demographic segmentation | SFEIRAD I faHTSH

4. Behavioral segmentation / JdgIR fayreH

Correct Answer :-

« Psychographic segmentation / mﬁmﬁlﬂm



The continuing commitment of a business to behave ethically and contribute to economic development while improving the
quality of life of the stakeholders such as employees, customers, and public is known as: /

UGN, ATED] 3R FdT 9 RAURS! & Sfta #} it § YUR $3a g, e e # dhrem & ok e
Y Y ITER H F T U saaury it fAar ufeasar A sgard &:

1. Corporate social responsibility / fAmfera wmfoe e @m BSIRIS ﬁmﬁrﬁﬁ«r&)
2. Corporate governance / PIURE Ta-g

3. Goodwill building / ¥R F6 T (TSfdd fafegm)

4. Compliance / 3TUTETT

Correct Answer :-

» Corporate social responsibility / fmfera wmfoTe o @\m BSIR| m@ﬁ'ﬁﬁ)

15) The total common shareholders’ equity reported on the balance sheet is called of
FAY =fie W Ul Y 18 o A= IWRURS! Fi 3fdd i PS8l
1. Book value / TTdT Hed (& deY)

2. Par value / TS (UR deg)

3. Retained earnings / e1ia HaTs (ke Gﬁ?)
4. Treasury stock / e wle (a\_llﬁ wid)

Correct Answer :-

« Book value / TTdT He¥ (& de4)

16) The ratio that focuses on the relationship of monetary current assets to current liabilities is called of

9% 3UT, Wil A adAT YUy & ada STareil & Gy GaY WHfZa e, PeaErzl
1. Return on investment / 3% TR Rt

2. Acid test ratio / TRA-FHRUT 3UTd (TR 2% IRMM)

3. Debt equity ratio / BT ST U (S& 3fehe! XA

4. Current ratio / FIHM SFUTT (FXC RN

Correct Answer :-

« Acid test ratio / Ira-fFgfRor 3Urd (Qﬁlg wm

17) The basic difference between services and goods is that unlike goods, services are <l
Jarait 3R wret ([g9) F 9 gHard) 3iar ge & fr ara & faudia, Jang gl
1. separable / foursa (@m

2. intangible / W@m
3. non-perishable / JHfAHRIT AF-IR=Ew)

4. homogenous / RG] (@ﬁiﬁ:\ﬂ)

Correct Answer :-

« intangible / Hﬂﬁ(ﬂ%ﬁﬁﬂ)



18) The bill that the customer never pay to the organization is commonly termed as: /

3 |, et Yrarm aee 4t Wre &) 98 Ba1, e g T d 9 E 9 @
1. Sunk cost / A% @RTd b 3#‘2’)

2. Deferred sale / 3TRIRTT faet (m@ﬁ)

3. Revenue / TSG m

4. Bad debt / 31N B (8 &)

Correct Answer :-

« Bad debt / 312N BT (38 S&)

19) The degree to which decision making is concentrated to a single point in the organization is called ail

@ e ¥, a8 fEht forgd fAofaa (&fiem afdm) #t voa fig oo $fa faraman g, Peard gl
1. Bureaucracy / ﬁwmﬁ

2. Centralization / HEIHT

3. Formalization / STOTRE 10T

4. Decentralization / fadr&IamRuT

Correct Answer :-

« Centralization / P&IH0T

20) The accounts maintained for the various items on the balance sheet are known as: /

Iaw e W fafte wel & fog srafRua 53 e @l @) ot 59 719 &/ S 9T §:
1. Reserve accounts / 3RI&d & aar (ﬁﬂé 3BEH)
2. Permanent accounts / TJTdT ST (QT’:I'IeR’ 3DHTIICH)

3. Temporary accounts / STt T (%Tlﬁﬂ 3DhIcH)
4. Cash accounts / T4l T@T (%QT JBI3H)

Correct Answer :-

« Permanent accounts / RITT ST (GRHMC I CARTR:)

21) The process of employees’ performance measurement and rewarding them accordingly is called ail

HHIRY F Y& PI AT SR TGIIR S8 RPASA DI UHAT__ Hgardi gl
1. Employee engagement / PHAR] qe-agdl (SHUQd) Sioie)

2. Performance appraisal / fFISITE HegiehT (TRWGTHY fOwTeN)

3. Induction / URUT (3SI-M)

4. Training and development / UTRI&0T 3R fa (271 U8 Saauwic)

Correct Answer :-

« Performance appraisal / IGLCIES] W (tRTFIVﬁ m



, U3l P 98 ANTA & S HET & 1Y uTfad 3R yae ©u A o AR & = 1t 21
1. Sunk costs /WWWW
2. Volume costs /mm(a\f@?m

3. Fixed costs / f0d anTd (fhavs i)
4. Variable costs / TRIITRNT ARTd (ARTSA i)

Correct Answer :-

« Variable costs / RGd-RId ARTd (QRTTT BIe)

23) A market structure wherein a commodity is supplied to the entire market by a single firm only is known as: /
TS SR TE1 o U & B g1 O IT9iR § U ag @t Smgfd 3t 97t 8, fe =0 & s S 8:

1. Perfect competition /wm (QTW ﬁmﬂm

2. Monopoly | UHTYBR (J:I)th?ﬁ)

3. Monopolistic | UHTIHRY (ﬁ:ﬁqﬁ@ﬁ

4. Oligopoly / SATIBR (Ghﬁ’l"'h'QT'ﬁ)

Correct Answer :-

« Monopoly / THIABR Gﬁ:ﬁqﬁ’ﬂ)

24) An organization wide effort to ensure quality in every activity of the company through continuous improvement is
known as: /

fARER QUR & 91y Ut o1 g7 nfafafy & quraar gAfia $37 & fore ve W+ &1 s vy A= searar g:
1. Six sigma / R R

2. Quality circle / UG qba

3. Quality control / T[0Tl fAG=TT

4. Total quality management / §YUf UG U&e

Correct Answer :-

 Total quality management / WW(T‘IT TaYT

25) Training methods like apprenticeship, understudy, etc, which allow the employees to learn while working, but may also
disrupt the workplace are commonly known as: /

Rggan (SmefR), RIFTH (3isvwes)) 3fe st ufigmr faftml, s sHurival ot w18 ovd W dem o1 s
It § wig wrdwa o ot a1t R gwd §, aETa: FEardi gl

1. Informal training / SRS UiRrem @ﬁﬁﬁaﬁm)
2. Off-the-job training / G{‘Tltﬁ-a-ﬁa-aﬁﬂ

3. On-the-job training / 3{d BT fRTefor (Gf\lef-a-ﬁiﬁ-aﬁ"'l)
4. Simulation training / muﬁ&m (ﬁlﬂ@"«’ﬂaﬁ'ﬁ)

Correct Answer :-

e On-the-job training / 3fd:HTd Ufneqor (HVH-E-GI‘W-%A =)



